1

(ttest)
tHest
(N= 10) (N=10)
X SD. X SD
() U710 1% 1153 1108 ks

2460 317 2580 193 -1.02

3380 622 3360 560 08
2350 479 2260 360 A
320 469 3330 685 12

P> 05 ({8= 173)



3
(Pretest)

(t-test)

05

46
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] 1
(t-test)

tHest
(\= 10) (N=10)
X SD. X SD

() 16030 515 12180 13% 428
000 497 2880 16 387

4450 617 3500 568 3.58*
3450 861 2620 543 2.58'

5130 890 3700 7.06 39+
P < (5 (0B0§= L73)

4 (t-est) 1
(Posttest)
05
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(t-test)
t-test {-test
(N=10) (N=-10)
X SD. X S.D. X SD. X  SD.

11710 1194 16030 2515 452 11530 1108 12180 1334 225

2460 317 3000 497 268 2580 193 2360 165 280

380 622 4450 617 324  B60 560 3B 568 LU

2350 479 3450 861 329 2260 360 2620 543 268

320 46 513 8% 546 3830 68 3700 706 218
P< 05 (t®9=183)
P> 05 (tG9= 183)
(t-test) 1

05

(t-test)
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49
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